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(1] a1 =V2, an:=v2+Fa,, (n=23,...) TEF3HINcONT:
(1) B {a,} FFELZEFEINTH 5 Z & 2RE,

Q) EED neNIZHLTa, <2 THsILEZRYE,

(3) {an} DHRIRMEZ KD XK.

[2] a>0, 21 >a THbBLE,
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xn+1:—§(xn+i) (n=1,2,...)
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(2) 2y >2p1 (n=1,2,...) THDB I LZ2RYE,
(3) {zn} DOHRfEZ KD K.

(3] RORTEZZNZEI {a,) ORI 2 W ZIKD &,
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(1) ay =2, a,:= §(an_1 +1) (n=2,3,...).
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(2) a; =1, n = 7 O (n=2,3,...).
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3 >0, a,:= =2,3,...).

) ar >0, = 3= (o )
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4)ar=1, a, =1+ (n=2,3,...).
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(3] a>0DLF, lim — =0ThH5IEERE,

Hint: a < ng %ﬁfljﬁ%%& No %_‘Oﬁj—% &, n > Ny @&_g,
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n' ng! ng+1 n = ng! \ng+1

[4] )n=23DEE, n"<(n)? THEILz2RE,
(2) lim ()" =00 TH 5 Z L ZRE,
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(5] a>0, b>0DLZE, ROMRHEZ KD X,

n+1 n __ pn
(1) lim a im L0
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(6] 0<a<bS<c?DEF, lim(a"+b"+c)/m R k.
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Hint: " < a™ + 0" + " < 3™ ITHE.

[7] RO ()~B)IFTXRTCEYTH L. kilx 52 &,
Ha>0DLZE, lima2=a%5F limz,=+a TH5.

n—00 n—o0

(2) lim z,, = c0, lim y, =0 % 5L lim z,y, = 0.
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(3) lim x, = co, lim y, = o0 %5 lim (z,, — y,) = 0.
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